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= .5217


8
M

4







7
M

4



M = Males   (n=20)
= .642


4
M

1






5
M

2



F = Females (n=20) 
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1.  Assess the significance of each of the three correlation coefficients displayed above (use the correlation table below).  Statistically, what do you conclude in each case?  Clearly explain the significance of each finding in common language.  Should we use the test scores to screen future hires?

2.  Correctly graph the data, and use it to build a cutoff table to determine where the cutoff point should be set for each of the three groups (the combined group, males only, and females only).  In each case, analyze your table to determine where the cutoff point should be set... given the opposing interests of your employer and the EEOC.   Clearly explain why you set the cutoff where you did in each case.

NOTE:   You will need to develop three graphs and three tables to properly complete question 2.


VALUES OF THE CORRELATION COEFFICIENT FOR


DIFFERENT LEVELS OF SIGNIFICANCE

--------------------------------------------------------------------------------------------------------------------

d.f. = (n-2)

alpha =
.05

alpha =
.02

alpha = 
.01

--------------------------------------------------------------------------------------------------------------------


1


.997


.999


.999


2


.950


.980


.990


3


.879


.935


.959


4


.812


.883


.918


5


.755


.833


.875


6


.707


.789


.835


7


.667


.750


.798


8


.632


.716


.765


9


.603


.686


.735


10


.576


.659


.708


11


.553


.634


.684


12


.533


.612


.662


13


.514


.593


.642


14


.498


.575


.623


15


.483


.558


.606


16


.469


.543


.590


17


.456


.529


.576


18


.444


.516


.562


19


.433


.504


.549


20


.423


.493


.537


25


.381


.446


.487


30


.350


.410


.449


35


.325


.381


.419


40


.305


.358


.394


45


.288


.339


.373


50


.274


.322


.355


60


.250


.295


.325


70


.232


.274


.302


80


.218


.257


.283


90


.205


.243


.268


100


.195


.231


.254

A Sample Cutoff Table


% Correct
Type I

Type II

% Hires

% Rejects

CUTOFF
CLASSIF
ERROR

ERROR

W/B OK

W/B OK
---------------------------------------------------------------------------------------------------------------------------
<2 (no elim)


---------------------------------------------------------------------------------------------------------------------------
<3

---------------------------------------------------------------------------------------------------------------------------



<4



---------------------------------------------------------------------------------------------------------------------------
<5



---------------------------------------------------------------------------------------------------------------------------
<6



---------------------------------------------------------------------------------------------------------------------------
<7



---------------------------------------------------------------------------------------------------------------------------
<8



---------------------------------------------------------------------------------------------------------------------------
<9



---------------------------------------------------------------------------------------------------------------------------
